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ONR-001 : INTRODUCTION TO WATER 
HARVESTING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 
marks. 

	

1. 	(a) Distinguish between Irrigation intensity and 	3 
Irrigation efficiency. 

(b) What is the present state of ground water 2+3 
in the country particularly in the northern 
states ? How can the rain water harvesting 
help in improving ground water 
conditions ? 

(c) What is the percentage of fresh water 	2 
available in the world ? 

	

2. 	(a) Explain the functioning of Johads and 3+1 
Khadur water harvesting structures. In 
which states are they used ? 

(b) What do you understand by ITK ? 	 1 
(c) Write the full form of the following : 	1x5=5 

(i) NWDPRA 	(ii) NREGA 
(iii) SHG 	(iv) NRAA 
(v) SLNA 

3. (a) Explain the concept of watershed 3 
Management. 
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(b) What are the main legislative measures for 	5 
implementing rain water harvesting 
schemes in urban areas of Delhi, Haryana 
and Uttar Pradesh ? 

(c) Write the names of the projects related to 	2 
irrigation development undertaken in the 
country in 16th century. 

	

4. 	(a) Distinguish between surface and sub- 2+3 
surface water pollution. Enumerate 
different sources of these pollutions. 

(b) When were Western Yamuna canal and 	3 
Krishna Delta Irrigation projects developed 
in the country ? 

(c) In which states of the country, tank 	2 
irrigation is practiced ? 

	

5. 	(a) Explain the approach for planning 2+3 
Participatory Watershed Management 
(PWM). Also describe the objectives and 
activities of PWM. 

(b) Explain the role and activities of NRAA. 	5 

	

6. 	(a) "The civilizations have developed and 	5 
prospered on the banks of the rivers". 
Justify the statement with examples. 

(b) What do you mean by Major Irrigation 2+3 
Projects ? Explain with examples. Why are 
they no longer viable in the present 
context ? 

	

7. 	(a) Using a schematic diagram, show the 	4 
institutional arrangement at the national, 
state, district and the village levels. 

(b) Explain the role of integrated watershed 	4 
management for realizing the benefits of 
watershed programmes. 

(c) Explain the role of ground water in 	2 
irrigation. 
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8. 	(a) What is rain water harvesting ? Write four 1+4 
main advantages of rain water harvesting. 

(b) Explain the term 'dark' areas in relation to 2+3 
ground water in Punjab and Haryana 
states. Explain the reasons for this 
phenomenon. 
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1. 	(a) 	#1'-41 41-1c11 3 #1.-911•RPTUT 	3f-d-{ ch.) TcriZ 	3 

(b) aki 	fdtzT 	 Of AM chi 2+3 
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(iv) 7. airT..-R. 

(v) 74. 
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